Final Exam 2023/2024 %
Faculty of Science — Course: English Language (2) zf ’
Time: Two Hours Total Score: 50 Marks Tuesday, June 4*', 2024
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Will you the responsibility? a. except b. accept c. expect
The affix in "'Reappear" is a. inflectional b. derivational c. free
We you to proceed carefully. a. advice b. advise c. advase
How many morphemes are there in the word ""Stopped''? a. Two b. Three c. Four
She prefers reading a lot he likes watching movies. This sentence is
a. fragment b. comma splice C. run-on sentence

that you lock your car. a. Assure b. Issure c. Ensure
The affix in ""Played" is a. inflectional b. derivational c. free.
The process by which the word "Bizarre" is formed is _____ a. clipping b. borrowing c. compounding.
Wanted to get to class on time. Thisis ____ a. sentence fragment b. run-on sentence c. simple sentence.

. Plato's teachings had a profound effect on Aristotle. We can substitute the underlined word with

a. depth b. affliction c. influence

The school band has reportedly been banned from performing at the graduation ceremony due to the
recent fight incident. The two underlined words are examples of

a. Homophones b. Homographs ¢. Homonyms

The speaker emphasized the need for cooperation in project that we were about to undertake. We can
substitute the underlined word with

a. accentuated b. discussed c. downplayed

While they were away on vacation, they allowed their mail to accumulate at the post office. We can
substitute the underlined word with

a. be delivered b. get lost c. pile up

Choose the Synonym of the word "Apex"'. a. Facet b. zenith c. pier

How many morphemes are there in the word "Kangaroos'? a. One b. Two - c. Three
Examples of homographs are a. Ate/Eight b. Right/Write c. Lead/Lead

"I felt awful about hitting this man today he didn't even seem to notice." This is called

a. Fragment b. correct . run-on sentences

The Chinese people worship their ancestors. The underlined word means

a. forefathers b. elders c. heirs

Jan took many snapshots while on vacation in Europe. We can substitute the underlined word with ____
a. notes b. photos c. gifts

The flowers on the table were a manifestation of the child’s love for his mother. The synonym of the
underlined word "manifestation" is__ a. A demonstration b. A combination c. An infestation
His company empowered him to negotiate the contract. The underlined word means

a. helped b. authorized c. forbade

Choose the Synonym of the word "Retrieve" a. Generate b. recover c. accelerate
Derivational morphemes are a. Suffixes only b. Prefixes only c. Prefixes or Suffixes
Which formation process produced the word "Call"? a. Back formation  b. Conversion c¢. Compounding
Which formation process produced the word "UNESCO"?  a. Acronyms b. Back formation c. Clipping
You must .....ceueeeene the source of your information. a. site b. sight c. cite

How many morphemes are there in the word "Savings"? a. Two b. Three c. Four
The speech fooled no one. a. affected b. effected  c. effect
Which formation process produced the word "Gym''? a. Blending b. Borrowing  c. Clipping
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30. How many morphemes are there in the word "Savings"? a. Two b. Three ¢. Four
31. Exchanges of language and culture were a direct result of commerce. The underlined word means

a. Embargo b. Stagnation c. Trade
32. He is a/an leader. a. capable b. able c. enable
33. How many morphemes are there in the word "Monkey"? a. Two b. Three ¢. One
34. How many morphemes are there in the word "Establishments"? a. Two b. Three c. Four
35. How many morphemes are there in the word " Activity"? a. Two b. Three c. Four
36. How many morphemes are there in the word "Farmer"? a. Two b. Three c. Four
37. How many morphemes are there in the word "Nervous'? a. Two b. Three ¢c. Four

38. Choose the Correct sentence:
a. [ like to walk to walk, to swim, and to read novels.
b. Ilike walking, swimming, and to reading novels.
c. [Ilike walk, swim, and to read novels.

Choose the prefix the forms the opposite of the following words:

39. The opposite of "legal" is formed by adding the prefix a. in b. im c.il
40. The opposite of "polite" is formed by adding the prefix a. in b. im c.il
41. The opposite of "active" is formed by adding the prefix a. in b. im c.il
42. The opposite of "responsible" is formed by adding the prefix a.in b. ir c.il
43. The opposite of "happy" is formed by adding the prefix a. in b. ir c.un

Read the following Passage then Choose the Correct Answer:
Seagulls live on the beach. They eat small fish, bread, and seaweed. Seagulls run quickly on the sand and fly
quickly in the sky. Seagulls will run or fly away if you try to catch them. There are many seagulls on the beach.
Crabs also live on the beach. They eat shrimp, ocean plants, and small fish. Crabs crawl quickly on the sand and in
the ocean. Crabs will crawl away if you try to catch them. There are many crabs on the beach, but it is not always
easy to see them. Starfish live on the beach, too. They eat clams, oysters, and small fish. Starfish move slowly on

the sand and in the ocean. Starfish will not move away if you try to catch them. There are few starfish on the
beach.

44. Seagulls, crabs, and starfish all eat a. clams b. bread c. fish.
45. Which animal does not move quickly? a. starfish b. seagulls c. crabs
46. Based on information in the passage, which sentence is false?

a. Starfish are hard to catch. b. Crabs eat shrimp and ocean plants. c. Bothaand b
47. The passage does not talk about

a. what starfish eat b. how crabs catch food c. how fast beach animals move
48. According to the passage, seagulls

[. live on the beach II. move quickly in the ocean I11. eat bread only

a.l only b. [ and II only c. I, II, and 11T
49. Based on information in the passage, which animal would you be most likely to see at the beach?

a. crabs b. seagulls c. starfish

50. Based on information in the passage, we can understand that
a. the beach is not as nice as the mountains.
b. the beach is a good place to vacation.
c. many animals live at the beach.

Good Luck .... Dr Mariana Nagaty



2" Jevel — Faculty of Science Object oriented programming
Assiut University (@.,251)
50 Points Final exam 2023-2024

For the following questions, write a C++ programming that (5
points for each question):

1. Asks the user to input an integer number and passes it to a function
called isEven which returns true when this number is even and false
otherwise.

2. Asks the user to enter floating point numbers and prints these numbers
in a reverse order. |

3. Computes and prints the value of 11!.

4. Asks the user to enter test scores for seven of students, computes the
average of all scores, and prints the scores which is less than the average.

5. Asks the user to enter test scores for six of students and passes these
Scores as an array to a function called Print which prints the elements of
this array.

6. Uses a function called Greeting that prints the message Hello Use this
function in a main program to test it.

7. Asks the user to input two integer numbers and passes them to a
function called Larger which returns the larger one.

8. Uses a switch statement with break to print the name of the weekday.
9. Calculates and displays the summation of two numbers.

10. Reads in the radius of a sphere and prints the sphere’s volume (V =
4/3 ©tr3 ), and area (4 = 4 tr?).

With my best wishes Dr. Tarek Abedelhameed



Properties of the materials e,

Assiut University 2nd year
Faculty of Engineering 2023/2024
Mining and Metallurgical Dept. Time: 2 hrs.
Marks: 50

Question No.1 (10+10 Marks)

a) Discuss with the help of sketch the effect of temperature on the mechanical propert_ies of
metals (Yield strength, TS, Ductility)

b) Discuss with the help of sketch the effect of temperature on the result from impact test for
FCC and BCC alloys.

Question No.1 (20 Marks)

A cylindrical specimen of aluminum having a diameter of 0.505 in. and a gauge length of
2.000 in. is pulled intension. Use the load—elongation characteristics shown in the

following table to complete parts (a) through (f).

Load, Lb. Length, in
0 2
1000 2.001
3000 2.003
5000 2.005
7000 2.007
7500 2.030
7900 2.080
8000 2.120
7950 2.160
7600 2.205

Fracture

(a) Plot the data as Engineering stress versus Engineering strain.
(b) Compute the modulus of elasticity.
(¢) Determine the yield strength at a strain offset of 0.002.
(d) Determine the tensile strength of this alloy.
(e) Compute the modulus of resilience.
(f) What is the ductility, in percent elongation?
(g) calculate Brinell No (HB) for the given sample.
Question No.3 (10 Marks)

Determine the ASTM grain size number of a metal specimen if 45 grains per square inch
are measured at a magnification of 100x%. (b) For this same specimen, how many grains per
square inch will there be at a magnification of 85%?

END

Best Wishes  Dr. Refaie
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Assiut University 2" Level — 2™ Semester
Faculty of Science - Final Exam (June 2024)
Mathematics Department (Data Structures)

Q1) Choose the correct answer for each question of the following (2 mark each)

a) We can increase the size of the unsorted list (False — True)

b) In the sorted list, to add an element We first need to find its location (False — True) -

¢) When the unsorted list is empty (length=0 -length=1 )

d) The function “MakeEmpty()  in the unso=ted list is (Constructors -Transformers- Observers — Iterators)
e) The function “InsertItem” in the sorted list is (Constructors -Transformers- Observers — Iterators)

) The function “deleteItem” in the sorted list is (Constructors -Transformers- Observers — Iterators)

g) The function “push” in the stack is a Constructor (False — True)

h) The function “pop” in the stack is a Transformer (False — True)

i) The function “isfull ” in the queue is Observer (False — True)

j) The function “Insertltem” in the binary tree is (Constructors -Transformers- Observers — Iterators)

Q2) Answer the following questions(5 mark each):

e sort algorithm on the next array showing all the intermediate steps.

a. Apply the Mer

10

8 2 o[ 1] 7] 80 20] 14| 25] 15]

b. Draw the bina

search tree after adding the next values.

10

8]

21 9 1 7] 80 20] 14] 25] 15|

c. Show by drawings how to add the item “10” to the following sorted linked list.

Head
B 2

5

'

8 » 1 » 12 » 15 » 18 | NULL

d. Write the preorder traversal for the next binary search tree.

e. Write the postorder traversal for the previous binary search tree.
f.  Explain by drawings how to add item “10” to the next queue.

[T T=T=T-]
) 0

{Rear) {Front)
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1. y® 4 2y"" — 2y —y = 6 sinhx (wa26)
2. y'+2y' +10y = e *cos3x (“a26)

A1 A Lalial) eyateall (alddl Jadl g JaSall Jadt 3a g ;a0 A ) guad]

1. y'+ y=xcosx (S 7)
2. x3y" +3x2%y" + xy' — 8y = 32x? (e 7)
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Dept. of Min. and Metall. Eng. Metal forming theory

Faculty of Engineering Material Science and
Assiut University nanotechnology 2" year
Second Semester — Final exam Time: 2 hours
2023/2024 Marks: 50

Answer the Following Questions

Question No. 1 (20 marks)

Cold working is one method of metal forming processes and if dislocations can't move, cold

working doesn't occur please answer the following questions:

1-
2.
3.
4-

Explain the previous sentence

What is meant by percent of cold working

What is the recrystallization heat treatment

A cylindrical rod of brass is to be cold worked by drawing having an initial diameter
of 6.4 mm to a final diameter of 5.1 mm. it is required to have yield strength at least
345 MPa and the ductility in excess of 20% EL. Describe the manner in which this

procedure may be carried out using the following table.
% cold work, %CW 20 23 36.5
Yield strength, MPa | 345 350 410
Ductility, %EL 25 20 8

Question No. 2 (20 marks)

Casting is one method of metal forming processes and the solidification of the castings

depends on the critical radius of the new solid please answer the following questions:

1-

Explain the previous sentence with sketches using the free energy pr:inciple

What are difference between the two mechanisms of solidification?

What are the defects during solidification and how can be decreased?

Calculate the undercooling (AT) in the critical nucleus when solid copper forms by
homogeneous nucleation if the volume of the nucleus is 82x10?2 c¢cm® and the
temperature (T) is 1358 K and the latent heat of fusion (AHy) is 1628 J/cm® and the

solid-liquid interfacial energy (o) is 177x107 Jlcm?.

Question No. 3 (10 marks)

A specimen of a 4340 steel alloy with a plane‘strain fracture toughness of 54.8 MPa \/;; is
exposed to a stress of 1500 MPa.

1- Will this specimen fail if the internal crack is 1.0 mm assuming Y= 1 and why?
2- In brief how can you analyze the failure causes?
3- What are the main elements of the technical failure report?

End---mmmmm o -

Best wishes
Prof. Elsayed A. Elbadry




Assiut University Faculty of Science

Faculty of Engineering Digital Logic Design (E228)
2"t Semester - Final Exam Exam Duration: 3 Hours
2023/2024 - May 2024 Marks: 50

Answer the Following Questions

OV peadh iy daldl 43 61 J@.B UA Jadt JlasSt Sy (paad) Jad faaiall dabluall &,55:\ ?! \:ﬂ ®
,:tzwabls :USI\ ?‘M. 4 \-g s Y e

Question #1: Choose the correct answer (25 Marks: 25 x 1 marks/question)

1. A basic S-R latch can be constructed by cross-coupling which basic logic gates?

5 (A) XOR or XNOR gates. (B) NOR or NAND gates.
{C) AND or OR gates. (D) AND or NOR gates.
i 2. Applying DeMorgan's theorem to the expression (X + Y)+ 7z , we get:
Ay (X + Y)Z ByX + Y)+ 2
OYX + V)2 ME+ Y)Z
3 A combinational logic circuit which sends data coming from a single source to
*  two or more separate destinations is:
(A) Decoder. (B) Multiplexer.
(C) Encoder. (D) Demultiplexer.
4. In aJK flip flop, if K = J , the resulting flip flop is referred to as ? |
(A) T flip flop. (B) S-R latch. - “
(C) D flip flop. (D) None of them. "
5 Convert 59.72 to BCD:
al (A) 111011 (By 1110,11
(C)0101100101110010 (D) 01011001.01110010

6. Whatis the 2's complement of 10011100?

(A) 11001011 (B) 01100100

(C) 11001011 ~ (D) 11111111

The Octal equivalent of the binary number 1011101011
7.

(A) 7353 (B) 5651

(C) 1353 (D) 5657

8. D flip flop can be made from a J-K flip flop by making:

(A)l=K (B)J=0,K=1
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11.

12,

13.

14.

13.

16.

17.

Binary number 101110110 is equal to decimal number .......

(A) 468 (B)374
(C)412 (D) 326
. One megabyte in base 2 (binary) is equivalent to .....
(A) 10° bytes. (B) 10* bytes.
(C) 10" bytes. (D) 10% bytes.

Which coding scheme is used in computers to represent-data internally?

(A) Decimal. (B) Binary.
(C) Integral. (D) None of the above,

The output of a 2-input logic gate goes high only when both inputs are low, else
it remains low. Which gate is it?

(A) XOR (B) AND
(C) NOR (D) NAND
Represent (36),, as a binary number.
(A) (101010), (B) (101000),
(C) (100100), (D) (100010),
PRSI, |

) IJD‘*‘ d
The output of the logic gate in figure is
(A)0 (B) A
(C) 1 (D) A

The Boolean equation X = [(4A + B) (B + C)] B can be simplified to ....

(A) X =AB (B) X = AB
(C)X = AB (D)X=AB

If the Boolean expression PQ + QR + PR is minimized, the expression becomes:

(A) PQ + QR . (B)QR+PR
(C)PQ+PR (D) PQ + QR + PR
D>
B ,
The output of logic circuit given below represents gate.
(A) OR. (B) AND.

(C) NOR. (I NAND.
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The minimum number of 2-input NAND gates required toimplement a 2-input
- XOR gate is:
(A)4 (B)6
(€)5 (D) 7

. The basic gates are: »
(A) AND, NOR and NOT gate. (B) AND and NOT gate
(C) AND, OR and NOT gate. (D) OR and NOT gate.

. The range of values that can be represented with 8 bit in 2°s complement form
is: ’ :

(A) 0to +128. (B) +256 to -256

(C)-128 to +128 (D) +127 to -128

The hexadecimal representation of this Octal number (657); is

(A) D78 (B) D71
(C) 1AF (D) 32F

.. The binary equivalent of (FA)q is:: f
(A) 10101111 (B) 10001111 |
(C) 11111010 (D) 11111000 |

. The 8-bit 2's complement form of the number ~14 is

(A) 11110010 (B) 00001110
(C) 10601110 (D) 061110001

. The Booleén function AB + AC is equivalent to 5
(A)AB+ AC+ BC (B) ABC+ A'BC + B'C
(CYA'B'C' + ABC' + A'BC (D) ABC + ABC' + AB'C

25. What is the decimal equivalent of the hexadecimal number (2F),;?
(A)47 (B) 527
- (C) 572 (D) 74
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Question #2: (6 Marks)

For the following circuit:
a. Write down the truth table.

b. Extract the simplified expressions for F and G using K-maps.

i

B N
C—rod___/

A -

I

A
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Question #3: (7 Marks)

Design a combinational circuit with three inputs, x, y, and z, and three outputs, A, B, and C.

When the binary input is 0, 1, 2, or 3, the binary output is two greater than the input. When ,

the binary input is 4, 5, 6, or 7, the binary output is three less than the input. For the
design:

a. Write the truth table.

b. Simplify A, B, and C to the SOP form.

¢. Implement the SOP form using AND and OR gates.
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Question #4: (6 Marks)

A sequential circuit with two D flip-flops A and B, two inputs, x and y; and one output z is
specified by the following next-state and output equations:
' A@+1)=xy’+xB
Bt +1)=xA + xB’
z=A
a. Draw thelogic diagram of the circuit.
b. List the state table for the sequential circuit.

- ¢. Draw the corresponding state diagram.
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Question #5: (3 Marks)

Implement the following Boolean function with a 8x1 multiplexer.

F (A, B, C,D)=Y(0,2,5,8, 10, 14)
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Question #6: (3 Marks)

For this Boolean function:
F=xy'z+x'y'z+wxy+ wx'y + wxy

a. Use Boolean algebra to simplify the function to a minimum number of literals.

b. Draw the logic diagram from the simplified expression.

Best wishes

Dr. Mina Adel Thabet
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